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13U/104/3(Set-I)

No. of Questions : 180

g # wwar 180
Time : 2 Hours ] [ Full Marks : 450
WY ;2 gUe ] ‘ [ qUIfes : 450
Instructions :
3,3?3-37 .

This paper consists of Objective Type Questions and is divided into two
Sections (I & II) as under :

& Y09 qgfaeeda gwl o amRa ® @ @ @vey (1 & I, ¥ fovae,
4 afttg ? -

(a) Section — I : Consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject Awareness in
some major subjects.

GO ~ [ : §9H WM §F, AFRG ARad adl 68 [ Rva @ s ®
IR 120 IZRAFT gy &

(b) Section - II : Consists of 30 Objective Type Questions on (I) English
Language and (II) Hindi Language.
@S — 11 : T¥H (I) 0o A1 iR (1) R w191 ) smenRa 30 agfieedn
ue g

The candidate is required to attempt as many questions as he/she can of

Section — I and Questions on any one of the two Language Papers : (I) English
or (I) Hindi in Section - II.

el o amferg @ 6 98 @ve -1 & gur Gue - II & () 30sh I7r (1) = sy
H 3 5 v i @ fETeE Ut B wel BY |

P.T.O.
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Note : (i) Each question carries 3 (three) marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted
question.

yds U 3 @H)mm%|mmw$mwwmm/
T SART YeA BT UKNS P BN |

(i) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

uﬁwmﬁmﬁfqmwvﬁwzﬁﬁwwﬁaﬁaﬁﬁmm
TE TR T |

(iii) Each question is followed by four alternative answers (1), (2), (3) and (4).
One of these answers is correct. Select the correct and record it against the
relevant question in the ANSWER SHEET by darkening the circle with Ball
Point Pen as per guidelines.

cra)?ﬁcrs:rzf‘:WWWWﬁ%%{%(1),(2),(3)6211(4)@%?1#@
Zoitar T &1 T ¥ P9 TP IR & GE ¥ | G IR YO q©AT TP HHd
B SR-UGT ¥ aegERl g @ ame frdurger Sfra ga () @ e
digee U9 §RT FTol HD sV |

SECTION -1
Hue - |

1. When the 'Right to Education Act' was implemented in India ?
(1) April1,2010 (2) April1,2005 (3) April1,2011 (4) April1l, 1948
wRe # R BT AP HRFE B9 A g ?
(1) 138, 2010 (2) 1 3de, 2005  (3) 1 3@, 2011 (4) 1 37, 1948

2. On which day International Day of Older Persons is being observed ?

(1) 18tof January (2) 18t of October
(3) 18t of July (4) 18! of September
R AFRE @ iy fRaw &1 5 e #mn smar € 2
(1) T S (2) U Ifdcar

(3) TH IS (4) td Ryaa

(2)
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By which process we learn to become members of society ?

(1) Cooperation  (2) Assimilation (3) Integration (4) Socialization
fora wfsban & g1 &9 WA 31 wew g day & 2

(1) gam (2) ATHEH (3) wHIGHT (4) TSR
Caste is based on :

(1) Area (2) Money (3) Birth (4) Population
ST omnRa e @

(1) &= (2) a7 (3) oI (4) STTHZET

Which one is an example of informal means of control ?

(1) Court (2) Police (3) Family (4) Army
foifese § ¥ B va Praeor 3 seiraRe are BT e © 2
(1) =ararery (2) yfers (3) uRar (4) ==

According to 2011 census of India, the sex-ratio is :

WA BT SIOME, 2011 F SRR A S 2

(1) 1000:933 (2) 1000 :927 (3) 1000 :940 (4) 1000 :990
Who among the following was associated with 'Chipko Movement' ?

(1) Hemwati Nandan Bahuguna (2) Chidanand

(3) Sunder Lal Bahuguna (4) Acharya Vinoba Bhave
fer=faiRa # & B RigeT srie & wvag wEr & ?

(1) e9ah < FgIon (2) R

(3) Y=x o FEIOM (4) rard fasEr g

Which among the following tribes is not originally found in Andaman and
Nicobar Islands ?

(1) Ongi (2) Jarawa (3) Nicobari (4) Bhantus
ﬁw%@aﬁ@%—@mﬁw@ﬁmmﬁwaw#
St 8 ? |

(1) 3 (2) SiRTEr (3) ferram (4) W<

Which year the Community Development Programme was launched in India ?

ARG H GEIRS et rimy fha a9 urwt Ry map o ?
(1) 1962 (2) 1972 (3) 1952 (4) 1942

(3) P.T.O.
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10. Which one of the following is not a characteristic of the traditional Indian rural
community ?
(1) Agricultural employment (2) Simple life
(3) Homogeneity (4) Market economy
PrefiRaa § ¥ PN T URRERET ARAr Wi ey o s et §
(1) & USTIR _ (2) A S
(3) FHBYCT (4) QTR rferavel

11. What is the minimum legal age for marriage of a boy in India ?

(1) 18 years (2) 20 years (3) 21 years (4) 25 years
ARA ¥ Th oied @ [IaTE B AT BT S8 @ © 7
(1) 18ad (2) 2099 (3) 2199 (4) 2599
12. Who among the following is authorised to declare a caste to be a
Scheduled Caste ?
(1) The Scheduled Caste Commissioner (2) The Governor of the State
(3) The President of India (4) The Chief Minister of the State
ﬁw%ﬂﬁﬁﬁﬂwaﬁﬁajﬁﬁﬁw%mﬁﬁmﬁa%ﬁwaﬁm%‘?
1) orafed Sife AosaArgad (2) IS BT ST
(3) YRA & g AT B HEHAN
13. Who was the first Chairman of the 'Backward Classes Commission' in India ?
(1) M. K. Gandhi (2) B.R. Ambedkar
(3) B P Mandal (4) Kaka Kalekar
we ¥ reer @it smanT BT uUH YA BT or ?
(1) THo @o TR (2) &0 3Ro IFFTSHY
(3) dlo dio AVEH (4) HTHT HTADR

14. Social distance in a city is due to :
(1) The transport problem
(2) The size of the city
(3) The social heterogeneity
(4) The distance between one's residence and the working place
wge A AEIfTs g8 H PRV €
(1) TTAITT B FHET
(2) TER BT JATHR
(3) T fafdian
(4) o oiR wried & weg
(4)
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Belief system is concerned with :

(1) Only religion (2) Only culture

(3) Only economic (4) All aspects of social life
fvara argeen Wt ¥ -

(1) Bger ot (2) dTa Hwpha @ o
(3) Fad e (4) TS 9w & ) veli
The nearest planet from the sun is :

(1) Earth (2) Venus (3) Mercury (4) Mars
T e TEF v

(1) gedt (2) ¥ (3) 3= (4) e
Spot the odd item in the following :

(1) Asteroid (2) Brittle Star (3) Nebular (4) Quasar
frefeaa & e s o

(1) gee (2) faeet am (3) “eRer (4) FareR

Which planet have maximum number of natural satellites, so far
discovered is ?

(1) Jupiter (2) Naptune - (3) Saturn (4) Uranus

39 TP FT 59 U8 B 99 SAET wpiie Sy § 2

(1) ge<afa (2) TB (3) =uf (4) U
Which planet takes highest time for completing one rotation ?

(1) Earth (2) Mars (3) Venus (4) Mercury
fe o8 2 oo s wey warer & 2

(1) gedt (2) e 3) T (4) 39

The biggest hot desert 'Sahara' is located in which continent ?

(1) North America (2) Africa (3) Asia (4) Europe
fava &1 waRy w1 T wevera wERT fvw wEElg A ¥ 2 |

(1) ST e (2) e (3) ufdmnm (4) T
| (5) P.T.O.
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21,

22,

23.

24.

25.

26.

27.

Which gas has the maximum share in the atmosphere ?

(1) Oxygen (2) Carban dioxide
(3) Hydrogen (4) Nitrogen
qrpATee ¥ e A @ AT FaoD g7
(1) sifede= (2) HEA STFIATRATES
(3) BRI (4) gL
Which one is not a phenomenon of Troposphere ?
(1) Precipitation  (2) Cloud (3) Jet Stream 4)
=T A BT enEvSe B Heal T8 8 ?
(1) @dor (2) srEd (3) wie garg (4)
Largest salinity is found in the water of :
(1) ArabeanSea  (2) Caspean Sea (3) Von Lake (4)
Fa o orauTe b oiet ¥ W18 O ¥ 7
(1) 3RE AR () dRggd R (3) 9 EIR| 4)
Who use first the term "Ecology" ?
(1) P. Odem (2) A.G. Tansley (3) Adam Smith  (4)
qRRufE wee &1 FarT wayem fhae fear e v
(1) do 3ireH (2) To Sflo T=FAT  (3) TsH R (4)
The largest Island in the Indian Ocean is :
(1) Maldives (2) Lakshadweep (3) Medagaskar  (4)
R<HETATR P Ga 9971 &9 8 :
(1) wread (2) FEE™ (3) WSTIRGR (4)
'‘Manchester' of North India is called :
(1) Lucknow (2) Kanpur (3) Agra 4)
IR WRA FT FTREY HEN S 8
(1) o= B (2) BTHYGR B (3) TR B (4)
The Longest Road route in India is :
(1) N.H.-1 (2) N.H.-7
(3) N.H.-2 ' (4) N.H.-51
ARG T Fa o1 WSS AT B .

(1) g eEnt - 1 ) It e - 7
(3) L I - 2 (4) g IR - 51

(6)

Above all

IR I

Dead Sea

LASERSIRIA

Haeckel

L

Diagogarsia

fzmirmRian

Noida

ST B
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Which one of the following is called "Green Gold" ?

(1) Coal (2) Petrol (3) Urenium (4) Forest
Fr=fefaa % & fo &w1 A7 e ey & 2

(1) ®rrern (2) ugia (3) I (4) ST
In which country was petroleum first produced ?

(1) Russia (2) Saudi Arabia

(3) Iran 4) U.S. A.

fa 2w # wdwem Yeferm a1 waaren g ?

(1) w9 (2) A< R4

(3) = ' (4) WgF 5T ARET

Which one of the following does not have a oil refinary ?

(1) Koyali (2) Nunmati (3) Hatia (4) Barauni
frfeRaa & & ®el da-ave sramr 78 & ?

(1) Prared (2) T (3) sfeam (4) =

In which of the following country has maximum damage to the forest been
caused by acid rain ?

(1) Spain (2) Netherland (3) Poland (4) Italy
ﬁﬂ%@aﬁﬂﬁﬁ@%ﬂﬁﬁﬂﬁ%ﬁﬂ?ﬁﬁﬁﬂmg@%?
(1) | (2) AT (3) Ui (4) sTelt

Which one of the following natural regions is best known for the production of
grapes ?

(1) Hot deserts (2) Monsoon (3) Equatorial (4) Mediterranean
FrefiRad sTpfie sw § B s & Wt e B R T STy & 2

(1) TH Jovera (2) HEE (3) PrEIEY (4) YRRy

The climate of a place is decided by :

(1) proximity to the sea (2) attitude

(3) latitude (4) All of the above
foeit verm & wierary PuiRa @ wrd @

(1) 99 9 g4 (2) =g |

(3) 3T | (4) SRR af @

(7) - P.T.O.
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34. Which of the following environment supports the growth of Mangrove

Swamp ?
(1) Tidal flat (2) Monsoon
(3) Equatorial (4) None of the above
g ToEe @ Few # P gafaRer Ged e g ?
(1) SaRGd FHTA (2) AR
(3) HERE (4) STRIGT B8 T
35. The chief industry of Afghanistanis:
(1) Cotton textile (2) Carpet making
(3) Sugar refining (4) Mineral exploration
FAHETIRET &7 TE SET 2
(1) ®ust (2) BTl
(3) A 4) s
36. Silk textile are mainly produced in:
(1) Japan & U.S. A. (2) Japan & Australia
(3) China & India 4) U.S.A. & U. K.
YoM B BUS qEHaal Swifed By o €
(1) S99 Td o o IHRHT H C(2) IUH Td gfern #
(3) 99 vd 9Ra H (4) Wo o 3R Ug faes #
37. Which of the following Industry uses mica ?
(1) Glass and Pottery Industry . (2) Electrical Industry
(3) Steel Industry (4) Textile Industry
foreforfaa & frg ST # od &1 SUFNT Bl 8 7
(1) ¥fren ug FNEE FEa SE 2) zofdgda ST
(3), ST SENT (4) FHUST IEUTT
38. The meaning of 'Mohenjodaro' is :
(1) Urban civilization (2) City of ruins
(3) Mound of the Dead (4) Abandoned mound
Hrgqorasr &7 aref a1 8§ ? |
(1) TR aegar ' (2) @UEER] BT IER
(3) Tt BT e (4) BT g e

(8)
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Which of the following is considered as an Indo-European language ?

(1) Persian (2) Chinese (3) Japanese (4) Mongolian
Frfere et § & forsrent gwev-aRidrr w97 e o & 7
(1) ®RA (2) == (3) YR (4) Amforas

What is 'Vishti' ?

(1) Marriage rites (2) Forced labour (3) A province (4) A district
foeey @ 2 ?

(1) faare <= (2) T (3) T yra (4) vo Rren

Who is the main character of the play "Mudrarakshasa" composed during the
Gupta period ?

(1) Chandragupta Vikramaditya (2) Chandragupta Maurya

(3) Kumargupta (4) Samudragupta

TG P17 AT YERETE” Aeh BT GG G B L ?

(1) T famafeey (2) = AR

(3) HIRT (4) LW

Who was Governer General when 1857 revolt broke out ?

(1) Dalhousie (2) Canning

(3) Curzon (4) Lawrence

1857 Y HIf<T & qaT IR SIRTA BT o ?

(1) s (2) fT

(3) o (4) =ma

Where was Lord Mahavira born ?

(1) Banaras (2) Vaishali (3) Kundgrama (4) Pavapuri
WITATT HETAR BT ST Bl gaT o7 ?

(1) FRE (2) gemed (3) sy (4) Trargdy
Who was the author of 'Tuzuk-i-Babri' ?

(1) Abul Fazl (2) Akbar (3) Babur (4) Amir Khusrau
TIP-TAEE F AT B 9 ?

(1) a8 BT (2) bR (3) @ (4) PR gy

(9) P.T.O.
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45.

46.

47.

48.

49.

Where is the 'Arhai-Din ka Jhonpra' situated ?

(1) Delhi (2) Ajmer (3) Lahore
SrgTe-fam @1 giger el Rud © 7

(1) feeen (2) 3SR (3) TER

The Second Battle of Tarain (1192) was fought between :
(1) Muhammad Ghori and Prithviraj Chauhan

(2) Muhammad Ghori and Rana Sanga

(3) Qutbuddin Aibak and Jaichand

(4) Babur and Ibrahim Lodi

aNET w1 gd g (1192) [ad §a gen ?

(1) qewig O g geaRie dler

(2) HEWE B G I A

(3) TR Ygs 9 SIS

(4) 9ER G A of1el

Which of the following is not one of Shahjahan's buildings ?
(1) TajMahal (2) Agra Fort
(3) Red Fort of Delhi (4) Panch Mahal
Prafafad § 9 #9-0 3aRa wewEl g B T8 8 ?
(1) dreTdEd (2) ATTRT B

(3) ool &1 el faet (4) gaHEd

Who ascended the throne after the death of Shivaji ?

(1) Balaji Vishwanath (2) Tarabai

(3) Sambhayji (4) Sahu

Rrars) & I B IR ASHTE W BT daT ?

(1) ararren fagaares (2) TRTETS

@) T (4) w7,

The Battle of Plassey was lost due to the betrayal of :

(1) Mir Qasim (2) Mir Jafar

(3) Amin Chand (4) All of the above
o)l gg ¥ ER fhue fvarau @ BN g 7

(1) ¥R w1aH (2) WR TIHY

(3) e da (4) STfa @
(10) '

(4) Agra

(4) MR
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Who granted the Diwani of Bengal, Bihar and Orissa to the East India
Company ?

(1) Bahadur Shah (2) Mir Qasim (3) Mir Jafar (4) Shah Alam 11
m,ﬁmwmaﬁﬁaﬁéwé%mmﬂhﬁﬁﬂ%ﬁmmﬁw?

(1) 98IgR ¥M" (2) 4R =IRM (3) AR STH (4) =mE 3w 11

Who among the following gave the slogan of Tai Hindi' ?

(1) B.G. Tilak (2) M.K.Gandhi (3) S.C.Bose (4) J.L. Nehru
Frrfera # @1 foram g g @1 = fa ?

(1) dlo o fe®  (2) wHo Fo TR (3) TR0 o A (4) o Tolo EwH

Krishna Deva Raya was a contemporary of :

(1) Akbar (2) Firoz Tughlaq
(3) Babur (4) Alauddin Khilji
SV <G XA 9 | 3 e wmie o ?

(1) HaR (2) TS TTerd
(3) qTeR (4) 3rCTSE Racrol
Psychology refers to :

(1) the study of human behavior only

(2) the study of mind

(3) the study of organisms

(4) the scientific study of the behavior and mental processes of humans and
organisms

URUEEIREGECIE IO

(1) % 999 FIBR $T FTIT AT

(2) A9 BT FTIT HIA

(3) Sial &T eI Bl

(4) "9 IR U4 AHRE Yibaral &1 g $eer

Which of the following glands called the master gland ?

(1) Pituitary gland (2) Adrenal gland (3) Sex gland (4) Thyroid gland

Freafefaa afer # 9 b e wfy sag § ?

(1) dgy ufe (2) ufg=rar ufe (3) I+ ufxy (4) srgg ufy

Which of the following age span is considered the period of adolescence ?

(1) 11-14 yrs (2) 12-18 yrs (3) 8-14yrs (4) 14-18 yrs
Frfofa sF-ar g favar ReeiRraven &1 sier w97 oAy & 2
(1) 11-14 9 (2) 12-18 a9 (3) 8-14 ay (4) 14-18 99

(11) P.T.O.
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56.

57.

58.

59.

60.

Anorexia refers to :

(1) low birth weight (2) prematurity

(3) increase in fetal activity (4) lack of oxygen

TR 3 afium R

(1) 5T & FAG ded BT B IR (2) gRudadn

(3) miRer frgy @ framel # gfg (4) offafIoTT @1 B
Psychodynamic theory is proposed by which of the following ?

(1) Freud (2) Bandura (3) Allport (4) Pavlov
Wmﬁwmwmmﬂawﬁmﬁmm?

(1) wIs (2) 9Ug (3) arerdte (4) Haea

Family is which type of group ?

(1) Secondary (2) Primary

(3) Both the above (4) None of the above

qfiaR ol WhR &1 F9E B 7

(1) fatras (2) WS

(3) Suda < (4) STgFT A | P T

Who was the propounder of classical conditioning theory of learning ?
(1) Kohler (2) Thorndike (3) Pavlov (4) Tolman
B & yre ordeH Rigr o1 Sfiaed B o1 ?

(1) B (2) of-eEs (3) Haerd (4) et

The person who is competitive, achievement oriented, impatient and generally
aggressive/angry is called :

(1) Type A personality (2) Type B personality

(3) Type C personality (4) Type D personality
aﬁwﬁﬁu%mfﬁ,mﬁxaﬁj@,maﬁ?ﬂmmrmm/mﬁﬁﬁ%ﬁ
FET T 8

(1) <189 ¢ ik (2) €3y 4 aAfdre

(3) 39 A Afdd (1) Ty I AfRd

(12)
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A scientific investigation in which organisms are observed in their natural
environment is which of the following methods ?

(1) Case study (2) Survey

(3) Naturalistic observation (4) Experimentation
%ﬁmmaﬂuﬁ@,ﬁwﬁmﬁamﬁﬁmmwﬁﬁmw%
98 Frafofm % & < Ry 2 2

(1) =fdT sregaa (2) ey

(3) wrpfaes frderor (4) TATHS S

The ‘'hierarchy' of needs theory was proposed by which of the following
psychologists ?

(1) Sigmund Freud (2) Clark Hull

(3) Abraham Maslow (4) B.E. Skinner
ﬁwﬁ@aﬁﬁsnﬁaﬁﬁﬁ%ﬁwuwzﬁmwmﬁ
gRAfq o ?

(1) e wrae () FH B

(3) 3rHTEH A 4) o tpo Rer

Which of the following media is the most effective in the formation of public
opinion ?

(1) Lecture (2) TV (3) Radio (4) Books
Wﬁ%ﬁﬁhﬁﬁﬂ%ﬁﬁﬁaﬁﬂ-wwwmuﬂmﬂsﬁ%‘?

(1) o (2) @o do (3) e (4) gw
Nicotine is found in which of the following substances ?

(1) Alcohol (2) Cocaine (3) Cigarettes (4) Sedatives
frfoRed wres galt & @ Ferd R g 3 arf oy @ 2

(1) #Afewn (2) BB (3) Rrre (4) T o Tang

Aptitude refers to :
(1) the capacity to acquire some specific skill
(2) the skill one has acquired

(3) creativity

(4) preference for particular activity
SifReraT < vy 2

1) f&el faRw whrerer @1 A @) e
(2) =fda grr afdfa erar

(3) ISTTHBET

(4) & fRy o &1 =y @ g

(13) P.T.O.



13U/104/3(Set-1)

66.

67.

68.

69.

70.

Who proposed two factor theory of intelligence ?

(1) Spearman (2) Binet | (3) Guilford (4) Thurstone
fo-aqe fagra @ garaa fa faar on ?
(1) Rozazis (2) fa (3) firewre (4) eried

Physiological psychology refers to the branch of psychology that studies :
(1) relationship between mind and body

(2) relationship between sensation and perception

(3) relationship between emotions and cognition

(4) relationship between physiological processes and behaviour

AR ARSI § ST O ARSI B W @ ¥ S SR AR E
(1) 79 3R INR T T

(2) WISAT R FeGENdHROT HT T=H

(3) FAGHAT AT G DI A=H

(4) TrR® uffFarel qon TEER BN =Y

When marginal utility diminshes, total utility :

(1) diminishes (2) increases

(3) remains constant (4) becomes negative
S/ e SR fedt g @ 2, del SuIfi

(1) firdt 2 (2) g @

(3) fRer &N @ : (4) ZUTHE BY ST @
In case of perfect substitutes, the elasticity of demand is :

(1) Zero (2) Infinite

(3) Greater than one (4) Less than one
wuﬁwmﬂa%amﬁ,tﬁa%a‘raaﬁ%:

(1) T3 (2) T

(3) THE A AR® (4) TS & B

When a given change in price results in an equal proportionate change in
quantity demanded, the elasticity of demand is equal to :

(1) One , (2) Greater than one

(3) Less than one (4) Zero '
aaa%ﬂaﬁqﬁaﬁﬁzﬁwwnﬁﬁwmvﬁaﬁﬁm%mﬁﬂﬁ
SICHEDIE

(1) 78 (2) 3HE A Irfe®

(3) TP W FHH (4) =

(14)
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72,

73.

74,

75.

The Marginal Utility Curve is :
(1) Vertical

(3) Downward sloping
AT SUAAT Fh BT 8
(1) Feafer

(3) e gam T1e

13U/104/3(Set-1)

(2) Horizontal
(4) Upward sloping

(2) &fest

(4) YR Iodl 3T @

In case of Giffen goods, the demand curve is :

(1) Downward sloping

(3) Horizontal

o a¥qall @ w=4 ¥, |9 9% BT B
(1) fireT g3n <1

(3) &fos

(2) Vertical
(4) Upward sloping

(2) Seafer

(4) SR IaAT 87T TTA

When Marginal Cost (MC) is less than Average Cost (AC), Average Cost (AC) :

(1) Increases and later declines
(3) Declines

(2) Declines and later increases
(4) Increases

Sd WA drta ((MC) w9 Bl ® iga emTa (AC) |, a9 3 arTad (AQ)

grft
(1) ugsl gec & g R g8 & 2
(3) fih g8 &l 2

Under monopoly, the Average Revenue

(1) Downward sloping
(3) Vertical

(
(

2) el & g g & & 2
(4) 9 g8 BN ©

AR) Curve is :
2) Upward sloping
(4) Horizontal

UHIHR BT g2 F AT AT (AR) T0 BRI -

(1) FRar garm g1t -
(3) FeafeR

(2) FUR I3AT BAT BT
4) S

The classical theory of rent is associated with the name of :

(1) Adam Smith

(3) ]. M. Keynes

T @1 wfafted Rrgra wfd 2
(1) vsw Reer

(3) o THo &I

(2) Alfred Marshall
(4) David Ricardo

(2) e e
(4) =fae Rersl
P.T.O.
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76.

77.

78.

79.

80.

81.

General theory of Employment, Interest and Money was published in :

AR, TR TAT J&T HT Ay Rygr=1 g2 gar
(1) 1929 (2) 1933 (3) 1936 (4) 1939

Which of the following is not the function of the Commercial Bank ?

(1) Acceptance of deposits (2) Issue of currency
(3) Advancing loans (4) Credit creation
o= § @ o e ol &1 s J8 2 ?

(1) ST EIHRAT - (2) g frtEa

(3) PO WEH HRAT (4) arg faHToT

The Tenth Five Year Plan ended in the year :

ESEIRECHDIN NSRS ISIEAC L T

(1) 2006 (2) 2007 (3) 2008 (4) 2009
National Rural Employment Garantee Scheme was started in the year :

RTSE TTAOT AR TR ST YR 1 T4 99
(1) 2006 (2) 2007 (3) 2008 (4) 2009

Employment Assurance Scheme has been merged with :

(1) PMRY (2) Food for Work

(3) IRDP . (4) SGRY

RISHTR STearas arard], fore #§ ) fead e &t 1 8 2

(1) dlo THo 3Ro aTgo (2) M T ITA IAATA
(3) g0 3Ro Fo o (4) THo flo 3MRo @TEo
Mode is equal to :

(1) 3 median — 2 mean (2) 2 median — 3 mean
(3) 3 median + 2 mean (4) 2 median + 3 mean
IETH IR BT B

(1) 3 #ifeasT — 2 ArRg (2) 2 #feg®T — 3 "rg
(3) 3 #Ifeg®T + 2 WA (4) 2 AETHT + 3 ARY

(16)
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83.

84.

85.

86.
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The difference between highest and lowest value in a distribution is called :

(1) Mean Deviation (2) Quartile Deviation
(3) Standard Deviation (4) Range

fll de & SfePTH T _AAH qoU &I R B B

(1) #ren fagem (2) T fage

(3) v fage= (4) fowr

Who was the founder of the 'Arya Samaj' ?

(1) Swami Dayanand (2) Swami Shraddhanand
(3) Swami Ramtirth (4) Lala Hansraj

A AT B RIS B o ?

(1) @ arF= (2) WrY srgT<

(3) w@r IRt (4) ST BRI

By which one of the following the British Crown took over the rule of East
India Company in India ? .

(1) Charter Act, 1853 (2) Queen's Proclamation, 1858

(3) Indian Councils Act, 1861 (4) Indian Councils Act, 1892
frforRaa & @ 5w o gry fofewr ®ea 4 wRa # $%¢ sfew o= &1 oA
arae el H o forr ?

(1) =R arffrs, 1853 (2) WERT! @I ©IYOT, 1858

(3) ARG BT srfefraH, 1861 (4) WRAY SR JfafTad, 1892

Hunter Committee Report was related to :

(1) 1857 Revolt (2) 1896-97 Famine

(3) Jallianwala Bagh (4) Partition of Bengal
e IS R wafd off -

(1) 1857 & fage & (2) 1896-97 & AFBTA |
(3) Siferdfarar art | (4) T B faveE |

"Shaheed" and "Swaraj" were the name given to which one of the following
territories by Subhash Chandra Bose ?
(1) Dadra and Nagar Haveli (2) Lakshadweep and Minicoy
(3) Goa and Panjim (4) Andaman and Nicobar
frafoRag #§ @ f59 w6 @ QIW T 99 7 TR SR RIS P OIH
feam e ?
(1) TTERT 3R AR el (2) deTET iR A
(3) T iR dfoH (4) 3USHA IR FAPER
(17) P.T.O.




13U/104/3(Set-1)

87. By which Act the federal system of government was introduced in India ?
(1) Indian Councils Act, 1909

(2) The Government of India Act, 1919

(3) The Government of India Act, 1935

(4) Indian Independence Act, 1947

fra M & gR1 YRT H AH @R @ WRGR BT AT fhar R ?

(1) R iRkt rfSfram, 1909

(2) IRd WRHR T Fffrgm, 1919

(3) 9RA WRAR &7 A, 1935

(4) RO e S aH, 1947

88. When was Indian Independence Act, 1947 passed ?

(1) 16th July, 1947 (2) 20 February, 1947
(3) 16th June, 1947 (4) 5th March, 1947
YR e arferfvz™, 1947 &9 qika far war ?
(1) 16 Semg, 1947 (2) 20 HRER), 1947
(3) 16 T, 1947 (4) 5 714, 1947
89. Who is the author of ‘Freedom From Fear’ ?
(1) Mahatma Gandhi (2) Nelson Mandela
(3) Aung San Suu ki (4) Martin Luther King Jr.
HISH BT BN & oEadH HIFT 8 ?
(1) =TT e (2) T HeAT
(3) 3AFT A G @ (4) =T R BT o
90. MNREGS falls under which of the following Rights ?
(1) Political Right (2) Social Right
(3) Economic Right (4) Cultural Right
HeTe T I T IR MRS Qo fEfaRaa # 9 fed afer @
3T ATt § ?
(1) ToHIfas fSadR (2) amAINTE AfTHER
(3) anfefw srfereR (4) AHAD JRNFR
91. When did Universal Declaration of Human Rights take place ?
(1) 16 June, 1946 (2) 10 December, 1947
(3) 9 August, 1948 (4) 10 December, 1948
HAFAEGERI ST IS Gy &9 B T ?
(1) 16 S[A, 1946 (2) 10 fewwR, 1947
(3) 9 3MTA, 1948 (4) 10 faawR, 1948

(18)



92.

93.

94.

95.

96.

97.
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Which of the following is not a feature of the Indian Constitution ?

(1) Sovereignty of Parliament (2) Republic

(3) Secularism (4) Judicial Review
fererferfaa # o o9 I wfders &) fagwar 787 & 2

(1) g DT FIAT (2) ToTaH

(3) Hfiyerar (4) e et

How many members are nominated by the President of India to the
Rajya Sabha ?

YRA B UMY & gRT oG G & fhay Fag A490d fh oy & ?
1) 6 () 8 (3) 10 4) 12

How many members are there in the Public Accounts Committee of
Parliament ?

THE & A o afefa § frds gewg 81 &€ ?
(1) 16 (2) 18 (3) 20 (4) 22

How can the Governor be removed ?
(1) On the request of the Chief Minister (2) By the Prime Minsiter

(3) By the Supreme Court (4) By the President of India
RIS (TA7R) B DA ST S Fhal & 7

(1) g&aw3 & SR W (2) UuTHE R

(3) wa@g =TTy gRT (4) IRT & ILURA D gRT

Who is known as the Father of Local Self Government in India ?

(1) Lord Lytton  (2) Lord Dufferin (3) Lord Rippon (4) Lord Mayo
ARG H YR WY ORGR BT TP (B AT/ S AT & 2

(1) <me feres (2) o€ THRA (3) @re Ru= (4) e wa

Where is the Secretariat of SAARC located ?

(1) New Delhi (2) Colombo (3) Kathmandu (4) Dhaka
T8N (AT%) BT FRIaTery waEl rafkerd § 7
(1) 75 oo (2) Brera (3) HTBHI (4) T

(19) P.T.O.
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98. The human heartis:

(1) two chambered (2) four chambered
(3) five chambered (4) three chambered
A9 g9 B

(1) 31 vPrat BT (2) TR UHTSI BT

(3) Ufg ydIsi &I (4) &9 g B

99. Deficiency of which of the vitamin causes osteomalacia ?
(1) Vitamin A (2) Vitamin D (3) Vitamin E (4) Vitamin C
fra faaifa &) &0 @ sfifResivafmn g & ?
(1) fae™= A (2) faer™\ D (3) faeif= E (4) faarfss C

100. The disease of forgetfulness is called :

(1) Amnesia (2) Insomnia (3) Thalasemia (4) Schizophrenia

oo 9T B FEd §

(1) sr=IRm (2) s=aIfFaT (3) dretian (4) s
101. The major source of energy for tissues :

(1) Protein (2) Lipids (3) Glucose (4) Fructose

Sabt & forg Sotl &7 g W €

(1) 9= () foftss (3) TP (4) waerH

102. Haemoglobin deficiency can be treated by supplementing :
(1) Iron (2) Calcium (3) Magnisium 4) Glucose
EANAST @ FH DI QR AT o Faar © ¢
(1) IMRA gRT () dfcrmm g (3) FNREW gRT (4) TN gRT

103. Most of the fat digestion occurs in :

(1) Rectum (2) Stomach
(3) Duodenum (4) Small Intestine
JAT HT AFHAH 9o+ BT € ¢
(1) YFeq # (2) mETer H
(3) sgfe™ (weoh) A (4) B 3ifd H
104. A disease that destroys the dorsal horn cells of spinal cord is :
(1) Polio (2) Malaria (3) Filaria (4) Arthritis
fre I | WA DS B S B BIRIGIY I & S § ?
(1) uifersn (2) Faiftam (3) wrsaRkar (4) smeivrsfe

(20)



105.

106.

107.

108.

109.

110.
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A disease against which vaccination is resorted only during epidemics :

(1) Diarrhoel disease (2) Tetanus

(3) Cholera (4) Taeniasis

Bacl WEMN) & THY 5 dM & favg dmTheor BT WERT OF g § ?
(1) srgar I (2) <eaw

(3) dieRT (4) -

Entamoeba histolytica is found in :

(1) Rectum (2) Intestine (3) Stomach (4) Oral cavity
UESEIT faviferfcenT aTaT T ¥

(1) YT § (2) i # (3) e A (4) y-faax §
Water borne disease is :

(1) Small pox (2) Tuberculosis (3) Malaria (4) Cholera
STAABHS AR |

(1) 9a®H (2) &RRIT (3) Wi (4) ®feRT

A person described to live on milk bread and eggs. He would suffer from :
(1) Night-blindness (2) Rickets ‘
(3) Scurvy (4) Beri-Beri

T G qU, s T ISl R Wigw fAalg a7 a8 O g

(1) <dreft & (2) qERAT ¥

(3) wndl & (4) - ¥

Night-blindness is caused by the deficiency of vitamin :
[T H T B AN (AR 59 e o 0 F S & ?
(1) feer = A (2) faer= B (3) faeifds C (4) faerf = D

Which is the historical monument that can be seen by the naked eyes
from the moon ?

(1) The Great Wall of China (2) The Pyramids of Egypt

(3) The Leaning Tower of Pisa (4) The Statue of Liberty, New York
Fr-a1 Vereye waw ) sifat @ dfg & o I o AT @ °

(1) 99 &1 g IR () fay = s

(3) U @ gar AR (4) I I LT B R, e

(21) P.T.O.
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111,

112.

113.

114.

115.

‘World Literacy Day' is celebrated on :

(1) 5th June (2) 15th August (3) 5th September (4) 8th September
feg eRar g’ 79137 ST ©
(1) 5 S &7 (2) 153rfa @ (3) 5 R & (4) 8 fyamR &Y

The boundary of which Indian State does not touch with the State of
Chhattisgarh ?

(1) Jharkhand (2) Bihar (3) Uttar Pradesh (4) Orissa
fore TR To @Y AT BENTE e Y Wy T8 e ?
(1) STREvS (2) feER (3) IR WY (4) ST

Who is the author of the stories 'Shatranj Ke Khiladi' and 'Kafan' ?

(1) Jai Shankar Prasad (2) Munshi Prem Chand
(3) Upendra Nath Ashq (4) Yashpal

TR B RIE) e FHT PRl B GE B & P

(1) SRR yarg (2) H gHE

(3) SURAT 3¥H (4) IeOTA

Which among the following, is the older ?

(1) Rigveda (2) Yajurveda (3) Samveda (4) Atharvaveda
e % @ @iF-a1 98 999 QRAT § 7

(1) e (2) 99 (3) W (4) g
Which is the highest Civilian Award given to a person in India ?

(1) Padma Bhushan (2) Padma Vibhushan

(3) Padma Shri (4) Bharat Ratna

IR H AR B 9eTe g1 S aren |atea ANRS A BE-a1 & 2

(1) TgRIET - (2) wEAfRgor

(3) ugHA (4) RIS

(22)
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117.

118.

119.

120.
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In the following series, which is the missing number ?
freg st o, AW Fer edt gE 2 7
4, 8, 9, 27, 16, 64,.... , 125

1) 15 @) 25 (3) 30 4) 45

A club has 120 members. In this two-third are males and rest are females.
Except 10 female members all other female members are married. How many
married females are there ?

U ger ¥ 120 wow ¥ o @ QR g § qor 9y ARerd ) 10 wfderst

@1 BlEHR q1d] Ay faifea € farfea #feeren o wer @ar @ ?
(1) 36 (2) 30 (3) 27 4) 24
Five students are sitting in a queue. Manoj is to the right of Pravin,

Premprakash is to the left of Santosh, Sailesh is in the middle of Premprakash
and Manoj. Who is in the left of all ?

(1) Pravin (2) Manoj (3) Premprakash (4) Santosh

Gfe BT T oigd d 90 & | 799 9o & aRl) iR B, Ut Ea b arf AR,
IST UHYHTY T HA P & 43T 8, 99 F9 IR} R P 93T § 7

(1) wdror (2) ¥ (3) THYHE (4) AW

If CBE means BAD, then CMBH means :
afe CBE @1 a1ef BAD 8, of CMBH @7 a1t 87«

(1) FLAG . (2) FLOY (3) FOOD (4) GOOD

What will be my relation to a woman who is mother of my father's brother ?

(1) Grandmother (2) Mother (3) Sister (4) Aunt
AR T W e R R S A e
(1) =T (2) #f (3) @& (4) a7

(23) P.T.0.
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SECTION -1I
LANGUAGE : ENGLISH
(For Candidates Opting English Language)

Directions : (Question Nos. 121 to 124) : Select the word nearest in meaning to the
given word :

121. Incessant:

(1) instant (2) continuous (3) running (4) flying

122, Stable:
(1) Uniform (2) Fluctuating (3) Permanent (4) Unvarying

123. Frugality :

(1) foolishness (2) extremity (3) enthusiasm (4) economy

124, Infreguent :

(1) never (2) usual (3) sometimes (4) rare

Directions : (Question Nos. 125 to 128) : Select the word opposite in meaning to the
given word :

125. Base: |
(1) height (2) top © (3) climax (4) roof

126. Momentous :

(1) insignificant  (2) everlasting (3) important (4) sudden

127. Conservative :
(1) modern (2) liberal (3) dynamic (4) old fashioned

128. Lukewarm:
(1) enthusiastic (2) moderate (3) friendly (4) fervent

(24)
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Directions : (Question Nos. 129 to 132) : Select the word which has been correctly spelt :

129.
130.
131.
132.

(1) suprime (2) superier (3) acceseries
(1) massage (2) movible (3) vilain
(1) insolvont (2) hostege (3) hoticulture
(1) atmosfere (2) fricton (3) pigin

(4) accessories
(4) maseur
(4) dropsy

(4) ruminate

Directions : (Question Nos. 133 to 136) : Select the word can be substituted for the given

133.

134.

135.

136.

group of words :

Morning prayer in the church :

(1) vesper (2) matin (3) epitaph

One who deserts his religion :

(1) apostate (2) turn coat (3) deserter

The intelligent and educated class :

(1) literate (2) aristocratic (3) educated

A small shop that sells fashionable clothes, cosmetics etc. :

(1) booth (2) stall (3) boutique

(4) chorus
(4) opportunist
(4) intelligentsia

(4) store

Directions : (Question Nos. 137 to 140) : Fill in the blanks with the correct word :

137. You will find that a Union Minister invariably has a splendid house with

138.

139.

140.

.......................... rooms
(1) decorated (2) spacious (3) small
Children are ........coceevrevnenn. by nature.

(1) depressed (2) sluggish (3) credulous
What you say may be true, but I hold exactly the .................
(1) obverse (2) logical (3) analytical

| 5 I at M. F. Hussain's painting in delight.
(1) stared (2) glanced (3) gazed

(25)

(4) congested

(4) lazy

......... view of it..

(4) concerned

(4) peered
. PTO.
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Directions : (Question Nos. 141 to 144) : Select the parts of speech of the underlined

141.

142.

143.

144.

word in the given sentences :

You know well enough what I mean.

(1) Adverb (2) Adjective

(3) Determiner (4) None of the above

He spoke fluently.

(1) Transitive Verb (2) Intransitive Verb

(3) Auxiliary Verb (4) None of the above

Sitting here is wasting of time.

(1) Verbalnoun (2) Noun (3) Adjective (4) Determiner
I shall avail my self of your kind advice.

(1) Relative Pronoun (2) Reflexive Pronoun

(3) Possessive Pronoun (4) None of the above

Directions : (Question Nos. 145 to 147) : Choose the explanation that catclies the spirit of

145.

146.

147.

idiom given in each question :

To end up in smoke.

(1) To ruin oneself (2) To overcome some one

(3) To excite great applause (4) To be completely misunderstood
To show one's white feather.

(1) To show arrogance (2) To become polite

(3) To seek peace (4) To show signs of cowardice

Gift of the cab.

(1) tobelucky (2) to have talent for speaking

(3) to get something free (4) to distribute gifts

Directions : (Question Nos. 148 to 150) : Choose the correct option to correct the

148.

149.

150.

underlined part of the given sentences.
It will depend now on they coming on time.
(1) they come (2) them coming (3) their's coming (4) their coming
The boy along with his parents were present at the school.

(1) was present (2) are present (3) being present (4) had presented

Passengers should be prohibited to smoke in the trains and buses.
(1) to smoking in (2) smoking in
(3) not to smoke (4) from smoking in

(26)
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SECTION -1l
gug -1l
YT ;B
(et &9 arer faenfefay & form)

Ader . Fra @it get & arvar defevr gav o T § o wE Sov A1 U &

151.
152.
153-.
154.
1565.
156.
157.
158.
159.
160.
161.
162.

163.

164.

99 Wel Tov Pl gy :

IRATT A & R 2= &1 @y g 8 7

(1) IrHTST (2) AUD AT (3) HATIHTST (4) RTSTHTET
= feaw fva [ifyr & sarar sar @ 2

(1) 14 FFR (2) 15 3T (3) 14 fdex (4) 14 SFTa9
= &1 PH-|1 FU A9P fewe) BT AN g ?

(1) @S areft (2) SoTHTT (3) araed (4) oy
ivery # B &1 PI9-91 FT ggad 811 8 2

(1) =Sl (2) gael (3) srady (4) “roTgR
T AR don AFeasER # R & 69 w9 &1 g9 g g ?

(1) aRfafea = (2) <o (3) Huy® W9 (4) HTIATST
et &g gav & fevar s ¥ =Y draf Fm & °

(1) TRy (2) TRTIRIT (3) &= s 4) &g
=Y fra <rog @Y o TEF R °

(1) MERT (2) H&T U (3) faer (4) STR g9
ure W e fofy § foref o 8 ?

(1) ToIE (2) s (3) TR (4) IR
TR O P gl FeEr S g ?

(1) garea g9 (2) R (3) AfrElEROT T (4) SIEN A
R o1 Surar & a1 & oy Suge s @/ g ?

(1) ffor (2) ¥4 (3) TR (4) A&

T N g g g ?

(1) Ry (2) URReIfY (3) wRRerch (4) A
TIH Q THH ITeEHY HIF-GT 8 ?

(1) TER (2) arEBR (3) R (4) 38R

B BT R fAem |/ e ?

(1) =ger (2) IgAT (3) drer (4) %

TN YN e W 1S wEd Rgay Sue o) 9 wse R e ?

(1) \rEd (2) g (3) gxarEAl (4) IATE!

(27) P.T.O.
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165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

TUER W UES B 9ayg B forw S weg qam € 7

(1) wrepTer (2) sTErHEd (3) qafes (4) STIRTEH
T4 TP A o9 db AR BT TE 3ef FT 8 ?

(1) wror ¥ga forTer FE g anfey (2) M SAIA &

(3) Sia¥ I8 Yeud & (4) w7 B wfe e ®

I WA g W) Ve HEl T BT 9E o gaagd ¢
(1) =afaa &9 T8 g

(2) W9 B A TAT b THUS TE el

(3) 3mEHl @ T arTad TE gt

(4) 3 P GRA FE gEor

T Y HB A & B U 0w v qaesy

1) fasi (2) st (3) wga (4) |dw
T8 W SN arer e BIF-AT B 7 ~
(1) erares) (2) g (3) Sy (4) T
39 § BIF-AT W gfeetT T8 R P

(1) ¥=on ) w3 (3) @5 4) &5
AR # fhae s & 7

1) 5 ) 6 (3) 7 4) 8

T W P B FWE 8 ?

(1) Pega_ (2) PIREN (3) S (4) @
g9 B9 YHdHe B I JET R 7

(1) se1 4d (2) e (3) & (4) fevfer
g8 V-8R B9 PR BT & IR H IR-ER | 8 ?

(1) faergor (2) forarfaemo (3) fadrs (4) A
T & TG H e arel’ & fory Swad e FT 8 7 |
(1) THHTNT (2) THRRD (3) ARl (4) AHHTEA
=9 § BIF grdd)y BT gaigars JE@ e ?

(1) s=r (2) aguii (3) faRRa (4) v
g8 W B9 99 BT gafgardy g ° .

(1) wafe (2) Sia’ (3) ST (4) FId
T BT el Afifaese e € 7 .

1) W + AT (2) @ + I (3) § + o (4) 3 + AN
s & yfesT e g -
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